
Note: the best way to study for the tests is to:

· Start by reading the lecture notes twice 
· Then, leave the notes aside and answer the questions (I do not value answers that are transcriptions of the lecture notes).
 If you do this, you’ll have to study much less before for the exam.

Reserve some hours (perhaps 4) every week to answer the questions. 

The answers should be handed at the next lecture. They should be manuscript (not typewritten) and preferably based on schemes. Keep a copy for yourself.

Please write WEEK 12 in bold at the beginning of your answers.

Week 12

1. a) Which procedure would allow us to assess whether the stock price of an individual company is different from its fundamental value?

b) What is meant when it is asserted that there is a stock market bubble? 
c) Why did economists argue that CB’s should not try to prevent stock market bubbles?

Note: the Shiller CAPE on which the argument of the lecture was based is not the simple price-to-earnings ratio 
2. What is the SP500?
3. a) What is the SP500 cyclically adjusted (or Shiller) price-to-earnings ratio (CAPE)?
b) If this is equal to 10, what can we:

i) conclude about the average profits of SP500’s companies over the previous 10 years? Explain.
ii) predict about the average profits of SP500’s companies over the next 10 years? Explain.
4. What determines the annual return from a stock?

5. What makes a fundamental investor (FI) buy stocks? And a speculator?

6. a) What is the ROE?

b) And what is the required ROE (RROE)? What has been its value over the past century?
7. “If the CAPE is equal to 16.8, we should predict that stocks will a provide an average return over the next 10 years equal to 10%.” Do you agree? Explain.
8. “If the CAPE is below its historical average, we should predict that stocks will a provide an average return over the next 10 years above the RROE.” Do you agree? Explain.

9. Present the argument according to which we should expect the Shiller CAPE to have only small and short-lived fluctuations around 16.8.
10. Has the Shiller CAPE recorded fluctuations with those features since 1881? Explain.

11. a) If the Shiller CAPE is at a certain moment lower than 16.8, it may start a self-sustained rise afterwards. Why?
b) Why may that upward movement may be reinforced after some time?

c) Why expectations that stock prices will rise can make them rise?

12. a) When the Shiller CAPE rises above 16.8, the behaviour of FIs change. Do you agree? Explain.
b) That behavioural change may not push the Shiller CAPE back towards 16.8. Why?

c) What may eventually drive the Shiller CAPE back towards 16.8?
13. a) How can a CB recognize that a stock market bubble is developing?

b) Why should the CB then act to prevent it?

c) “The CB should prevent stock market bubbles by raising interest rates.” Do you agree? Explain.
d) If the CB raised the proportion of the value of stocks that could be bought with borrowed money, what would be the effect on stock prices? Explain.
14. a) How can an emerging house price bubble be detected?

b) How should the CB respond to that?
15. a) Using a numerical example, explain how a short-seller can try to profit from the forecast that a stock market bubble will burst next year.

b) If many investors follow that strategy, the bubble may or may not burst this year. In which case will it burst and in which case it will not? Explain
16. Explain the argument according to which bubbles cannot exist because they tend to be killed at birth.
17. a) Given the two reasons why it is psychologically hard for short-sellers to stick to their short positions as a bubble gathers strength.

b) What will be the effect of that on the bubble? Explain.

18. a) Even if many short-sellers resist psychologically as a bubble gathers strength.  some may still end their short positions. Why?

b) What will be the effect of that on the bubble? Explain.
19. Explain the critique to the argument according to which bubbles cannot exist because they tend to be killed at birth.

Look again at the graph depicting the evolution of the Shiller P-to-E ratio since 1881. With the exception of the year 2009, it seems that in the 21st century SP500 price has been permanently above its fundamental value (if measured by the historical average, CAPE = 16.8) – even in Jan 2003 after the dot.com stock crash.

20.
If SP500 profits rise by 10% a year over the next 10 years, is it still true that the SP500 price is above its fundamental value because the SP500 CAPE is above 16.8? Explain.
21. Over the past 10 odd years, 10-year TB nominal rates have been around 2.5% - well below their average of 5.5% in 1926-2005. Can this fact be used to argue that the historical mean CAPE of 16.8 is no longer a suitable measure of the fundamental value of stocks? Explain.

22. Why does the fundamental value of a flat depends on the long-term interest rate? Explain the other aspects that influence the fundamental value of a flat.
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